
Part Number AGE2/AGE3 Retrofit List Price
Exchange 

Part#

Exchange 

Price
NOTES

15622 BACK COVER $13 N/A N/A N/A

14975-3 BALLSCREW EXTENDED SUBASSY X-AXIS $90 N/A N/A Y-AXIS

14975 BALLSCREW EXTENDED SUBASSY X-AXIS (2 INC $74 N/A N/A FRONT PANEL-MX2(NOT FOR RESALE)

16206 EXCHANGE BALLSCREW MODULE Z-AXIS N/A 16206R $1,624 16206R

15609-12 BALLSCREW MX 12" ENGLISH $1,205 N/A N/A K2, Y AXIS

15609-16 BALLSCREW MX 16" ENGLISH $1,205 N/A N/A N/A

15609-19 BALLSCREW MX 19" ENGLISH $1,205 N/A N/A N/A

15608-36 BALLSCREW MX 36" ENGLISH $1,374 N/A N/A Y-AXIS

15608-48 BALLSCREW MX 48" ENGLISH $1,374 N/A N/A N/A

15608-54 BALLSCREW MX 54" ENGLISH $1,374 N/A N/A N/A

16075 BALLSCREW X-AXIS RIGHT HAND LEAD $2,142 N/A N/A Y AXIS

16076-1 BALLSCREW Y-AXIS LEFT HAND LEAD-29 IN $1,541 N/A N/A SPECIFY TYPE AND MODEL OF MILL

16076 BALLSCREW Y-AXIS LEFT HAND LEAD-34 IN $1,495 N/A N/A BRIDGEPORT SERIES 11 AND C/KONDIA FV300

15608-42 BALLSCREW-X AXIS $1,374 N/A N/A N/A

M5. BASE - MOUNTING W/HDWR $142 N/A N/A N/A

15612 BEARING HOUSING ASSY - X AXIS left side $117 N/A N/A  

15980 BEARING HOUSING ASSY-LARGE FLANGE-Y AXIS $117 N/A N/A Y AXIS

23930 BEARING SET (2) ANGULAR CONTACT 7204 BEC $255 N/A N/A Set of 2 for X axis

22008 BEARING-204KTT $105 N/A N/A Used on right side of the table.

400-5M-15 BELT - TIMING 5MM POWERGRIP $117 N/A N/A Z AXIS

890-5M-15 BELT - TIMING 5MM POWERGRIP (Y AXIS) $88 N/A N/A Y-AXIS

740-5M-15 BELT TIMING $88 N/A N/A Z-AXIS

1000-5M-15 BELT-TIMING $90 N/A N/A REPLACES 30922

16355-1 BOLT 3/8-24 BRKT BALLNUT MOUNTING $46 N/A N/A SPECIFY TYPE AND MODEL OF MILL

16364-3 BOLT 3/8-24 BRKT BALLNUT MOUNTING $84 N/A N/A SPECIFY TYPE AND MODEL OF MILL

16364-2 BOLT M10 X 1.5 BRKT BALLNUT MOUNTING $158 N/A N/A SPECIFY TYPE AND MODEL OF MILL

16355-3 BOLT M10.-1.0. BRKT. BALLNUT MOUNTING $46 N/A N/A SPECIFY TYPE AND MODEL OF MILL

16364-1 BOLT M10-1.0 BRKT BALLNUT MOUNTING $147 N/A N/A SPECIFY TYPE AND MODEL OF MILL

16355-2 BOLT M10-1.5 BRKT BALLNUT MOUNTING $46 N/A N/A SPECIFY TYPE AND MODEL OF MILL

15621 BRACKET - X DRIVE HOUSING $219 N/A N/A X AXIS

15611-(X) BRACKET / MOTOR MOUNTING X N/A N/A N/A N/A

16357-1 BRACKET BALLNUT FORK EXTENDED LAGUN SM16 $117 N/A N/A SPECIFY TYPE AND MODEL OF MILL

16353-1 BRACKET BALLNUT MACHINED - ACER/MILLPORT $100 N/A N/A BRIDGEPORT SERIES 11

16353-2 BRACKET BALLNUT MACHINED SM 1 1/2 VS $100 N/A N/A SPECIFY TYPE AND MODEL OF MILL

16215 BRACKET BALLNUT-MACHINED (FORK) $226 N/A N/A N/A

15618-(X) BRACKET / MOTOR MOUNTING X N/A N/A N/A SPECIFY TYPE AND MODEL OF MILL

15617-(X) BRACKET / MOTOR MOUNTING X N/A N/A N/A SPECIFY TYPE AND MODEL OF MILL

16743 N/A N/A N/A N/A N/A

22555-15 CABLE ASSY-LOGIC - 37 pin EB TO PENDANT $63 N/A N/A N/A

22608 CABLE ASSY-POWER 10 FT $19 N/A N/A N/A

HEDS-5100-A-06 CODEWHEEL - 500 CPR. $87 N/A N/A SEE 16179 FOR CODE WHEEL AND ENCODER

20181-1 COMPUTER MODULE $6,116 20181-1R $2,115 N/A

E-mail: sales@trakmt.com - service@trakmt.com - web: trakmt.com

TRAK - ProtoTRAK - CNC

R8 - Page 1 of 2

Revised 1/11/2024



Part Number AGE2/AGE3 Retrofit List Price
Exchange 

Part#

Exchange 

Price
NOTES

20181-2 COMPUTER MODULE ASSY - AGE3 $6,523 N/A N/A N/A

15627-(X) N/A N/A N/A N/A N/A

15858 E-STOP ASSY-MX N/A N/A N/A N/A

16024 EXCHANGE MX2 DRAWER N/A 16024R $724 N/A

15181 EXTENSION ASSY 1" $59 N/A N/A N/A

15624 FRONT COVER $46 N/A N/A N/A

16179 FRU - Z-AXIS ENCODER AND READER HD. $219 N/A N/A USES .035 ALLEN WRENCH

25729 HANDLE REPLACEMENT KIT, FOLD AWAY $131 N/A N/A REPLACES 30922

15616 HANDWHEEL ASSY (X AND Y AXIS) $307 N/A N/A X & Y AXIS

HEDS-9100-A-00 MODULE - ENCODER MODULE - OPTICAL INC. ( $87 N/A N/A SEE 16179 FOR CODE WHEEL AND ENCODER

20296 MOTOR ASSY-4020 $1,632 20296R $1,397 X, Y and Z Motor

24489 MOTOR W/O SERVO - 4020-20296 $955 24489R $917 PART OF 20296 Y-AXIS

16452 NUT CLAMP $39 N/A N/A X & Y AXIS

16452 NUT CLAMP $39 N/A N/A X & Y AXIS

16402-4 PCB ASSY - MX3 CONN BD LIMIT SWITCH $432 16402-4R $422 N/A

20180 PENDANT -AGE2 $4,487 20180R $2,945 N/A

20180-1 EXCHANGE PENDANT - AGE3 N/A 20180-1R $3,255 N/A

20142 RSG HOLDER, KIT $46 N/A N/A N/A

15626 SEAL $13 N/A N/A USED WITH 15980 AND 15612

24101-4 SERVO DRIVER SERIES 3-4020 $916 24101-4R $832 X & Y AXIS, replaces 20201 and 20201R

25701 SHIELD-SPLASH-3 PACK $135 N/A N/A N/A

20195-1 SLIP CLUTCH ASSY 125 LBS-INCH $271 N/A N/A N/A

20195-2 SLIP CLUTCH ASSY 125 LBS-INCH $271 N/A N/A Y AXIS

SHIELD/BASE SPLASH SHIELD AND MAGNETIC BASE $110 N/A N/A N/A

15638 STOP-X-AXIS $13 N/A N/A N/A

P-TRAK RSG TRAK REMOTE STOP/GO SWITCH $293 N/A N/A SEE 20142 FOR HOLDER

15614 TAB WASHER $13 N/A N/A  

15844-(X) N/A N/A N/A N/A Y AXIS

Manuals CD Print
21449 AGE 2 PROGRAMMING MANUAL-SPANISH VERSION $50 $92 N/A

21049 AGE PROFILE SELF TRAINING MANUAL $50 $92 N/A

20917 AGE2/3/LX2 SAMPLE PROGRAMMING MANUAL $50 $92 N/A

20429 MANUAL-AGE OFFLINE PROGRAMMING (2/3/LX) $50 $92 N/A

21261 MANUAL-AGE3-PROGRAMMING-SPANISH $50 $92 N/A

20260 MANUAL-CAD/CAM AGE 2,3 $50 $92 N/A

24939 MANUAL-SERVICE-KNEE MILL-M2/AGE2/A $50 $90 N/A

21038 MANUAL-PROGRAMING AGE2 $50 $92 N/A

21039 MANUAL-PROGRAMING AGE3 $50 $92 N/A

E-mail: sales@trakmt.com - service@trakmt.com - web: trakmt.com

TRAK - ProtoTRAK - CNC

R8 - Page 2 of 2

Revised 1/11/2024


